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H = ol TR P BA{7
% 5 52.68 %
- B =)L B RRARE - T A FZ B 26.73 %
Py ) B
o Kb biE 5.91 %
@ L _ N B .
I I 11.15 %
HL N
& R om o m 2.30 %
 a D it 1.23 %
-V 113.57 kg/m®
) 7}( 5} 44.84 %
N _ a
g IR 45 4.43 %
s _ - Ll
2 a] R 4y 50.73 %
2710 kecal/kg
moOofL % B B —
% 11300 kJ/kg
2230 kcal/kg
# L 3¢ 20 & = # & —
9350 kJ/kg
=4
2010 kcal/kg
& fr % 28 3 & —
8430 kJ/kg
_ & E 27.73 iR B 0.02 %
Jo | . — . _ )
fi 7K e 3.83 ey % 0.26 %
e - 1 _
= e 0.29 73 e 18.60 %
%
TWEEZ . 1610 THOBRBE : 795 kg
X & :  HWh lcal = 4,184 ]
2 B : 305 <C

(BR) PhMB R BE 2 #r & v & —




% 2022 - G - 014 & (2/3)

THERBBHESE
HEFAL AR AE KR MES
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HEZHO _ EZHOD
1500 X S 600 x L2
L {5 (%r%:g: E)% 4500 X 5%3 — 600 X 4;16%4 - 2013.8 (2010 ) ( keal/kg )
( 8430 ) ( kl/kg )
H=/kHZ R AR~ —2R
H% = FIAR—R X RRYIFIE X KR FHIE
( 100 - 2.30 ) ( 100 - 44.84)
7.11 X 103 X —m e ) o 3.83
2. 1K fiL 3% BB N
(5200 fE)
mirEE — 6 (9 X H% + K% % )
2710 — 6 ( 9 X 3.83 + 4484 ) = 22341 ( 2230 ) ( keal/kg )
(9350 ) ( kJ/kg )
—
RIAR—REN R X R IE
3. % W % A& 5030 x (100 - 2.30 ) 49143 ( 4910 ) ( keal/kg )
( 20600 ) ( kJ/kg )
HLMREE X IKITEHIE
4.8 AL R O& 4910 x (100 16044'84) = 27084 ( 2710 ) ( keal/kg )
( 11300 ) ( kJ/kg )
!
H = HAZEET ;. JIS-M-8814I #EHL
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L s (%) AW (%) = 100 - 44.84 - 4.43 = 50.73
5 FFA~—2 TR IE KRG HIE
2.k # (%) _ ( 100 - 2.30 ) (100 - 4484)
” 51.46 X T X T = 27.73
C
- RFA_R— IR IE ( K HHIE
3 (%) ( 100 - 2.30 ) 100 - 44.84)  _
w11 & 100 % 100 - 3.83
H
- RFA~_—2 T IE ( KGHHIE
4, (%) (100 - 2.30 ) 100 - 44.84)
\ 0.54 X s X T = 0.29
T RFA—2 TN IE ARAIE
5. { (%) ( 100 - 2.30) ( 100 - 44.84)
S 0.04 X 100 G 100 = 002
P RFA~—2 ; TR IE KA HHIE
6. (%) 100 - 2.30 ) ( 100 - 4484) _
| 0.48 X 00 b4 100 - = 0.26
Cl
A[PASY c H N S cl I
7. B % (%) 50,73 - ( 27.73 + 3.83 4+ 029 + 0.02 4+ 02 ) = 1860
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